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Compound 

(molecular mass) 

Retention

time 

(min) 

[M-H]- MS2 MS3

463 300,301* 151, 179 peak A 
53 

477         300,301* 151, 179 

peak B 58 447 284*,285 227, 255, 

267  

(1) myricetin-3-rhamnoside (M= 464) 51 463 316*,317 151, 179, 

271 

(2) quercetin-3-glucoside 

(M= 464) 

53 463 300, 301* 151, 179 

(3) kaempferol-3-rutinoside (M=594) 57 593 284, 285* 229, 257 

(4) quercetin-3-rhamnoside (M=448) 58 447 300, 301* 151, 179 

(5) kaempferol-3-glucoside (M=448) 58 447 284*, 285 227, 255, 

267 

(6) myricetin (M=318) 60 317 151, 179 - 

(7) quercetin (M=302) 71 301 151, 179 - 

(8) kaempferol (M=286) 82 285 229, 257, 

267 
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